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y = m
A oM ! il - A = y] £
NS MM of & o = A 2
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4,722,804 4,782,141 59,337
4,622,004 4,681,431 A59,337
4,622,004 4,681,431 A59,337
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4,079,909 4,139,246 59,337
201
SIETE= 1,313,174 1,364,836 A51,662
1,313,174 1,364,836 A51,662(01 LBt

DIHICF Jt2E HIIRB(Il ALS)

B E(7,8903x406S5x 138 )-J1 & (6,956 x510Sx 182 )
= N22,212

DIHICF Jt2E HIIRB(Il ALS)

BH(7,8903x139Ex 138 )-J1 & (6,956 x148Sx 182 )
= N4, 273
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OlHS JI2S ®MIIQ2(0] AIR)
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o =XH
- 3.2ZZRI2ZLHA
Ol JDI2SE ®HIIQ2(0] AIR)
A (7,890 x304Sx13”)-I1 A (6,956 x304Sx18& )
= 16,881
o JEdH
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